



Vol. 4, No. 1 (2010) 39-48

Solution of Integral Equations by Using Block-Pulse Functions

M. Rabbani a,1 ,K. Nouri b,2

 a Islamic Azad University, Sari
 Branch, Sari, Iran.

^b School of Mathematics, Iran University of Science & Technology, Tehran, Iran.

Abstract

In this paper, the properties of the hybrid functions which consist of block-pulse functions plus Legendre polynomials are presented. Then, integral equations are converted into an algebraic system by hybrid of general block-pulse functions and the Legendre polynomials. In continue, approximate solutions of integral equations are derived, finally the numerical examples are included to demonstrate the validity and applicability of the algorithm.

Keywords: Integral Equations, Block-Pulse Hybrid Functions, Operational Matrix, Orthogonal Functions, Legendre polynomials.

© 2010 Published by Islamic Azad University-Karaj Branch.

1 Introduction

Integral equations are a class of important models in applied science, since it is difficult to obtain the analytic solutions of these equations, numerical methods to obtain approximate solutions are of interest. Piecewise constant basis functions [1] were introduced by Alfred Haar in 1910. Orthogonal functions or polynomials, such as block-pulse functions(BPF) [2,3], Walsh functions [4], Fourier series [5], Legendre polynomials [6],

¹Corresponding Author. E-mail Address: mrabbani@iust.ac.ir

²E-mail Address: knouri@iust.ac.ir

Chebyshev polynomials [7] and Laguerre polynomials [8], were used to derive solutions of some integral equations. Among all these functions, the BPF set proved to be the most fundamental [9] and it enjoyed immense popularity in different applications in the area of numerical analysis. In recent years the different kinds of hybrid functions [10-14] were applied to solve this problem. In this paper the hybrid functions consisting of general block-pulse functions and Legendre polynomials are used to solve integral equations. The general operational matrices are presented and numerical solutions are derived by hybrid functions.

2 Preliminaries

A set of block-pulse function $b_k(t), k = 1, 2, ..., K$ on the interval [0, T) are defined as

$$b_k(t) = \begin{cases} 1, & t_{k-1} \le t < t_k, \\ 0, & otherwise, \end{cases}$$

where $t_0 = 0, t_K = T$ and $[t_{k-1}, t_k) \subset [0, T), k = 1, 2, ..., K$.

The Legendre polynomials $L_m(t)$ on the interval [-1,1] are given by the following recursive formula

$$\begin{cases} L_0(t) = 1, & L_1(t) = t, \\ (m+1)L_{m+1}(t) = (2m+1)tL_m(t) - mL_{m-1}(t), & m = 1, 2, 3, \dots \end{cases}$$

The hybrid functions $h_{km}(t), k = 1, 2, ..., K, m = 0, 1, ..., M - 1$; on the interval [0,T) are defined as

$$h_{km}(t) = b_k(t)L_m(d_k^{-1}(2t - t_{k-1} - t_k)).$$

So

$$h_{km}(t) = \begin{cases} L_m(d_k^{-1}(2t - t_{k-1} - t_k)), & t_{k-1} \le t < t_k, \\ 0, & otherwise, \end{cases}$$

where $d_k = t_k - t_{k-1}, k = 1, 2, ..., K$. Let

$$H_k(t) = [h_{k0}(t), \cdots, h_{k,M-1}(t)]^{\tau}, \quad H(t) = [H_1^{\tau}(t), \cdots, H_K^{\tau}(t)]^{\tau}.$$

is the transpose. We have the operational properties of hybrid functions

$$\int_0^t H(s)ds = PH(t), \qquad \qquad \int_t^\tau H(s)ds = \bar{P}H(t),$$

where

$$P = diag(d_1, \cdots, d_K) \otimes \frac{1}{2} \left[E_{11}^{(M)} + \sum_{k=1}^{M-1} \left(\frac{1}{2k-1} E_{k,k+1}^{(M)} - \frac{1}{2k+1} E_{k+1,k}^{(M)} \right) \right]$$
$$+ \sum_{k=1}^{K-1} \sum_{i=1}^{K-k} d_i E_{i,i+k}^{(K)} \otimes E_{11}^{(M)},$$
$$\bar{P} = d_1 \sum_{i=1}^{K} \sum_{j=1}^{K} E_{ij}^{(K)} \otimes E_{11}^{(M)} - P,$$

 $E_{ij}^{(m)}$ is the $m\times m$ matrix with 1 at its entry (i,j) and zeros elsewhere and \otimes denotes Kronecker product.

3 Function Approximation

An *l*-dimensional vector function f(t) on the interval [0,T) is expressed as

$$f(t) \simeq \sum_{k=1}^{K} \sum_{m=0}^{M-1} f_{km} h_{km}(t), \qquad (1)$$

where

$$f_{km} = \frac{2m+1}{d_k} \int_{t_{k-1}}^{t_k} f(t) L_m (d_k^{-1} (2t - t_{k-1} - t_k)) dt.$$

Rewrite f(t) as

$$f(t) \simeq \sum_{k=1}^{K} F_k H_k(t) = F H(t),$$

where

$$F_k = [f_{k0}, \cdots, f_{k,M-1}], \qquad F = [F_1, \cdots, F_K],$$

for corresponding F_k and F we denote

$$\hat{F}_k = [\hat{f}_{k0}^{\tau}, \cdots, \hat{f}_{k,M-1}^{\tau}]^{\tau}, \qquad \hat{F} = [\hat{F}_1^{\tau}, \cdots, \hat{F}_K^{\tau}]^{\tau}.$$

Let a matrix function M(t) be appropriate to a vector function f(t). We express M(t)and f(t), respectively, as

$$M(t) \simeq \sum_{k=1}^{K} \sum_{m=0}^{M-1} M_{km} h_{km}(t), \qquad f(t) \simeq \sum_{k=1}^{K} \sum_{m=0}^{M-1} f_{km} h_{km}(t),$$

then

$$M(t)f(t) \simeq \sum_{k=1}^{K} \sum_{i=0}^{M-1} \sum_{j=0}^{M-1} M_{ki} f_{kj} h_{ki}(t) h_{kj}(t).$$

From

$$h_{ki}(t)h_{kj}(t) \simeq \sum_{m=0}^{M-1} d_{km}^{(ij)}h_{km}(t),$$

where

$$d_{km}^{(ij)} = \frac{2}{\pi} \int_{-1}^{1} S_i(t) S_j(t) S_m(t) (1-t^2)^{\frac{1}{2}} dt,$$

we have

$$M(t)f(t) \simeq \sum_{k=1}^{K} \sum_{m=0}^{M-1} \left(\sum_{i=0}^{M-1} \sum_{j=0}^{M-1} d_{km}^{(ij)} M_{ki} f_{kj} \right) h_{km}(t) = \sum_{k=1}^{K} \sum_{m=0}^{M-1} \tilde{M}_{km} h_{km}(t) = \sum_{k=1}^{K} \tilde{M}_{k} H_{k}(t),$$
(2)

where

$$\tilde{M}_{km} = \sum_{i=0}^{M-1} \sum_{j=0}^{M-1} d_{km}^{(ij)} M_{ki} f_{kj} = \hat{M}_{km} \hat{F}_k, \qquad \hat{F}_k = [f_{k0}^{\tau}, \dots, f_{k,M-1}^{\tau}]^{\tau}, \qquad \hat{\tilde{M}}_k = \hat{M}_k \ \hat{F}_k,$$

$$\hat{\tilde{M}}_{k} = [\tilde{M}_{k0}^{\tau}, \dots, \tilde{M}_{k,M-1}^{\tau}]^{\tau}, \quad \hat{M}_{k} = [\hat{M}_{k0}^{\tau}, \dots, \hat{M}_{k,M-1}^{\tau}]^{\tau},$$
$$\hat{M}_{km} = \left[\sum_{i=0}^{M-1} d_{km}^{(i0)} M_{ki}, \dots, \sum_{i=0}^{M-1} d_{km}^{(i,M-1)} M_{ki}\right].$$

Therefore

$$N(s,t)f(t) \simeq \sum_{k=1}^{K} \sum_{m=0}^{M-1} \tilde{N}_{km}(s)h_{km}(t),$$
(3)

where

$$\tilde{N}_{km}(s) = \hat{N}_{km}(s)\hat{F}_k, \qquad \hat{F}_k = [f_{k0}^{\tau}, \dots, f_{k,M-1}^{\tau}]^{\tau},$$
$$\hat{N}_{km}(s) = \left[\sum_{i=0}^{M-1} d_{km}^{(i0)} N_{ki}(s), \dots, \sum_{i=0}^{M-1} d_{km}^{(i,M-1)} N_{ki}(s)\right],$$
$$N_{ki}(s) = \frac{2}{\pi} \int_{-1}^{1} N(s, 2^{-1}(d_k t + t_{k-1} + t_k)) S_i(t) (1 - t^2)^{\frac{1}{2}} dt.$$

Let

$$w(t) = \int_{t_0}^{t_f} N(t,s) f(s) ds \simeq \sum_{k=1}^{K} \sum_{m=0}^{M-1} w_{km} h_{km}(t),$$

$$\hat{N}_{km}(t) \simeq \sum_{j=1}^{K} \sum_{l=0}^{M-1} \hat{N}_{km}^{(jl)} h_{jl}(t),$$
(4)

where

$$\hat{N}_{km}^{(jl)} = \left[\sum_{i=0}^{M-1} d_{km}^{(i0)} M_{ki}^{(jl)}, \dots, \sum_{i=0}^{M-1} d_{km}^{(i,M-1)} M_{ki}^{(jl)}\right],$$
$$N_{ki}^{(jl)}(s) = \frac{2}{\pi} \int_{-1}^{1} N_{ki} (2^{-1} (d_j t + t_{j-1} + t_j)) S_l(t) (1 - t^2)^{\frac{1}{2}} dt.$$

By Eq. (3) we have

$$w(t) \simeq \sum_{j=1}^{K} \sum_{l=0}^{M-1} \sum_{k=1}^{K} \sum_{m=0}^{M-1} \hat{N}_{km}^{(jl)} \left(\int_{t_{k-1}}^{t_k} h_{km}(t) dt \right) \hat{F}_k h_{jl}(t).$$

 So

$$\hat{W} = \sum_{k=1}^{\left[\frac{M+1}{2}\right]} \sum_{i=1}^{K} \sum_{j=1}^{K} E_{ij}^{(K)} \otimes \frac{d_j}{2k-1} N_{j,2k-1}^{(i)} \hat{F},$$
(5)

where

$$N_{j,2k-1}^{(i)} = \left[N_{j,2k-1}^{(i0)^{\tau}}, \dots, N_{j,2k-1}^{(i,M-1)^{\tau}} \right]^{\tau}.$$

4 Analysis of Systems of Integral Equations

Consider the following integral equations system described by:

$$x(t) + \int_{t_0}^{t_k} K(t,s)x(s)ds + u(t) = 0, \qquad t \in [t_0, t_k], \tag{6}$$

where x(t) and u(t) are known and unknown *n*-dimensional vector function. By using Eqs. (1) –(4) we approximate the quantities x(t), $\int_{t_0}^{t_k} K(t,s)x(s)ds$ and u(t) with:

$$\begin{aligned} x(t) &\simeq \sum_{k=1}^{K} \sum_{m=0}^{M-1} \tilde{A}_{km} h_{km}(t), \qquad u(t) &\simeq \sum_{k=1}^{K} \sum_{m=0}^{M-1} \tilde{B}_{km} h_{km}(t), \\ ∫_{t_0}^{t_k} K(t,s) x(s) ds \\ &\simeq \sum_{k=1}^{K} \sum_{m=0}^{M-1} w_{km} h_{km}(t). \end{aligned}$$

Integrating Eq. (6) from t_0 to t and combining Eqs. (2),(3) and (5) we obtain

$$[X_1, \dots, X_K]H(t) - [X_{01}, \dots, X_{0K}]H(t) = \int_{t_0}^t \{ [\tilde{A}_1, \dots, \tilde{A}_K] + [W_1, \dots, W_K] + [\tilde{B}_1, \dots, \tilde{B}_K] \} H(s) ds$$

where

$$X_k = [x_{k0}, \dots, x_{k,M-1}], \qquad X_{0k} = [x_0, 0, \dots, 0], \qquad k = 1, 2, \dots, K.$$

Thus

$$[X_1, \dots, X_K] - [X_{01}, \dots, X_{0K}] = \{ [\tilde{A}_1, \dots, \tilde{A}_K] + [W_1, \dots, W_K] + [\tilde{B}_1, \dots, \tilde{B}_K] \} P.$$

Using Kronecker product we rewrite the above equation as

$$\hat{X} - \hat{X}_0 = (P^\tau \otimes I_n) \{ [\hat{\tilde{A}}_1^\tau, \dots, \hat{\tilde{A}}_K^\tau]^\tau + [\hat{W}_1^\tau, \dots, \hat{W}_K^\tau]^\tau + [\hat{\tilde{B}}_1^\tau, \dots, \hat{\tilde{B}}_K^\tau]^\tau \},\$$

where

$$\hat{X} = [\hat{X}_1^{\tau}, \dots, \hat{X}_K^{\tau}]^{\tau}, \qquad \hat{X}_k = [x_{k0}^{\tau}, \dots, x_{k,M-1}^{\tau}]^{\tau}, \qquad \hat{\tilde{A}}_k = [\tilde{A}_{k0}^{\tau}, \dots, \tilde{A}_{k,M-1}^{\tau}]^{\tau}, \hat{X}_0 = [\hat{X}_{01}^{\tau}, \dots, \hat{X}_{0K}^{\tau}]^{\tau}, \qquad \hat{X}_{0k} = [x_0^{\tau}, 0^{\tau}, \dots, 0^{\tau}]^{\tau}, \qquad k = 1, 2, \dots, K.$$

 $\hat{W}_K {\rm and}~ \hat{\tilde{B}}_K {\rm have the similar meaning as}~ \hat{\tilde{A}}_K.$ So

$$l\hat{X} - \hat{X}_0 = (P^{\tau} \otimes I_n) \{ [(\hat{A}_1 \hat{X}_1)^{\tau}, \dots, (\hat{A}_K \hat{X}_K)^{\tau}]^{\tau} + \hat{W} + [(\hat{B}_1 \hat{U}_1)^{\tau}, \dots, (\hat{B}_K \hat{U}_K)^{\tau}]^{\tau} \}$$

$$= (P^{\tau} \otimes I_n) \left[\sum_{k=1}^K (E_{kk}^{(K)} \otimes \hat{A}_k) \hat{X} + \sum_{k=1}^{\left\lfloor \frac{M+1}{2} \right\rfloor} \sum_{i=1}^K \sum_{j=1}^K E_{ij}^{(K)} \otimes \frac{d_j}{2k-1} N_{j,2k-1}^{(i)} \hat{X} + \sum_{k=1}^K (E_{kk}^{(K)} \otimes \hat{B}_k) \hat{U} \right].$$

Therefore

$$\hat{X} = \Gamma \hat{U} + \Omega, \tag{7}$$

where

$$\Gamma = [I_{MKn} - (P^{\tau} \otimes I_n)\phi]^{-1} (P^{\tau} \otimes I_n) \sum_{k=1}^{K} (E_{kk}^{(K)} \otimes \hat{B}_k),$$

$$\phi = \sum_{k=1}^{K} (E_{kk}^{(K)} \otimes \hat{A}_k) + \sum_{k=1}^{[\frac{M+1}{2}]} \sum_{i=1}^{K} \sum_{j=1}^{K} E_{ij}^{(K)} \otimes \frac{d_j}{2k-1} N_{j,2k-1}^{(i)},$$

$$\Omega = [I_{MKn} - (P^{\tau} \otimes I_n)\phi]^{-1} \hat{X}_0.$$

5 Numerical Examples

In this section we want to use this method to solve integral equations.

Example 1. In this example we solve equation

$$x(t) = \int_0^{\frac{\pi}{2}} k(t,s) f(s) ds + u(t)$$

where

$$k(t,s) = t\sin(s+t) - s\cos(s-t)$$

$$g(t) = \sin(t) + \frac{1}{16}(-2\pi(2t-1)\cos(t) + (4+\pi^2 - 8t)\sin(t))$$

and the exact solution is $x(s) = \sin(s)$.

By using Eq. (7) and choosing M = 3, K = 2 and M = 4, K = 3 we have the numerical results that shown in Table 1.

t Values	0	$\frac{\pi}{6}$	$\frac{\pi}{4}$	$\frac{\pi}{3}$	$\frac{\pi}{2}$
$E_{(M=3,K=2)}$	3.11×10^{-11}	6.41×10^{-9}	2.41×10^{-9}	5.81×10^{-10}	1.53×10^{-8}
$E_{(M=4,K=3)}$	0	4.27×10^{-11}	8.82×10^{-10}	1.36×10^{-10}	9.11×10^{-10}

Table 1: Numerical results for Example 1

Example 2.Consider the following system of Fredholm integral equation

$$\begin{cases} u_1(t) = \int_{-1}^1 \sin(t^2 + s) x_1(s) ds - \int_{-1}^1 3s e^{t^2 s^2} x_2(s) ds, \\ u_2(t) = -\int_{-1}^1 3\cos(ts) x_1(s) ds + \int_{-1}^1 st e^{3t s^2} x_2(s) ds, \end{cases}$$

where

$$\begin{cases} u_1(t) = -\frac{3e^{t^2 - 1}(-e + e^{t^4})}{2(1 + t^2)} - \frac{\sin(t^2 + 3t) + \sin(t^2 - 3)}{6} + \frac{(\sin(t - t^2) + \sin(t^2 + 1))}{2}, \\ u_2(t) = \frac{e^{3t^3 + t^2} - e^{3t + 1}}{2(e + 3e^t)} + \frac{-6\cos 2t\cos t^2 + 3t\sin 2\sin t + 6\cos t(\cos 2 - t\sin t\sin t^2)}{t^2 - 4}. \end{cases}$$

and the exact solutions are $x_1(s) = \sin 2s$ and $x_2(s) = e^{s^2-1}$. Numerical results for hybrid solutions of this equation with M = 4, K = 3 and M = 5, K = 3 are shown in Table 2.

Conclusion

Using the excellent properties of operational matrices of the hybrid function of general blockpulse functions and the Legendre polynomials, the general algorithms for system of integral equations are derived. This paper's method has some advantages, method is easy to apply for first and second kind system of integral equations, also we need less computations than other methods. In some methods kernels of system must be satisfied in some conditions such as being

	E_{x_1}		E_{x_2}		
x	M = 4, K = 3	M = 5, K = 3	M=4, K=3	M = 5, K = 3	
-1	3.2154×10^{-6}	2.0180×10^{-8}	8.1426×10^{-4}	1.0021×10^{-6}	
-0.75	1.5841×10^{-8}	5.6211×10^{-10}	3.1102×10^{-6}	5.2984×10^{-7}	
-0.5	1.9427×10^{-8}	8.1247×10^{-9}	6.3523×10^{-8}	7.9416×10^{-8}	
-0.25	5.3974×10^{-7}	2.1144×10^{-9}	1.2488×10^{-8}	6.3529×10^{-10}	
0	2.3819×10^{-8}	3.6284×10^{-11}	7.1515×10^{-6}	1.3025×10^{-9}	
0.25	5.1982×10^{-7}	1.1544×10^{-11}	1.2343×10^{-7}	8.2474×10^{-10}	
0.5	1.2014×10^{-6}	4.2931×10^{-9}	5.2110×10^{-8}	4.1444×10^{-9}	
0.75	7.3618×10^{-6}	3.3213×10^{-9}	6.1024×10^{-7}	4.1625×10^{-9}	
1	5.7211×10^{-5}	2.8417×10^{-7}	7.1111×10^{-5}	3.8171×10^{-7}	

 Table 2: Numerical results for Example 2

separable but the method of this paper do not have such conditions. The illustrative examples demonstrate that this technique is convenient for application.

References

- Beauchamp K.G., Applications of Walsh and Related Functions with an Introduction to Sequency theory, Academic Press, London, 1984.
- [2] Deb A., Sarkar G., Sen S.K. (1994) "Block pulse functions, the most fundamental of all piecewise constant basis functions," Int. J. Syst. Sci., 25(2), 351-363.
- [3] Horng I.R., Chou J.H. (1985) "Analysis, parameter estimation and optimal control of time-delay systems via Chebyshev series," Int. J. Control, 41, 1221-1234.
- [4] Kung F.C., Lee H. (1983) "Solution and parameter estimation of linear time-invariant delay systems using Laguerre polynomial expansion," Trans. ASME J. Dyn. Syst. Measur. Control., 105, 297-301.
- [5] Lee H., Kung F.C. (1985) "Shifted Legendre series solution and parameter estimation of linear delayed systems," Int. J. Syst. Sci., 16, 1249-1256.

- [6] Maleknejad K., Mahmoudi Y. (2004) Numerical solution of linear Fredholm integral equation by using hybrid Taylor and block-pulse functions," Appl. Math. Comput., 149, 799-806.
- [7] Marzban H.R., Razzaghi M. (2004) "Optimal control of linear delay systems via hybrid of block-pulse and Legendre polynomials," J. Franklin Inst., 341, 279-293.
- [8] Marzban H.R., Razzaghi M. (2004) "Solution of time-varying delay systems by hybrid functions," Math. Comput. Simul., 64, 597-607.
- [9] Palanisamy K.R., Rao G.P. (1983) "Optimal control of linear systems with delays in state and control via Walsh function," Proc. Inst. Electr. Eng., 130, 300-312.
- [10] Rao G.P., Sivakumar L. (1978) "Analysis and synthesis of dynamic systems containing time-delays via block-pulse functions," Proc. IEE, 125, 1064-1068.
- [11] Razzaghi M. (1990) "Fourier series approach for the solution of Linear two-point boundary value problems with time-varying coefficients," Int. J. Syst. Sci., 21, 1783-1794.
- [12] Razzaghi M., Marzban H.R. (2000) "Direct method for variational problems via hybrid of block-pulse and Chebyshev functions," Math. Probl. Eng., 6, 85-97.
- Sannuti P. (1977) "Analysis and synthesis of dynamic systems via block-pulse functions," Proc. Inst. Electr. Eng., 124, 569-571.
- [14] Wang X.T. (2006) "Numerical solution of delay systems containing inverse time by hybrid functions," Appl. Math. Comput., 173, 535- 546.